

$$\begin{aligned}
x_{\underline{\mathfrak{s}}} &= x_{\underline{\mathfrak{c}}} \\
x_{\underline{\mathfrak{c}}} &= -x_{\underline{\mathfrak{s}}} \\
x_{\underline{\mathfrak{s}}}^2 + x_{\underline{\mathfrak{c}}}^2 &= 1
\end{aligned}$$

$$\bigvee 0 < \pi < 4: \quad \pi/2_{\underline{\mathfrak{c}}} = 0$$

$$m > 0 \Rightarrow 0 \leq (-1)^m \left( x_{\underline{\mathfrak{c}}} - \sum_n^m (-1)^n \frac{x^{2n}}{(2n)!} \right) \leq \frac{x^{2m}}{(2m)!}$$

$$m = 1: \quad 0 \leq 1 - x_{\underline{\mathfrak{c}}} \leq \frac{x^2}{2}$$

$$m = 2: \quad 0 \leq x_{\underline{\mathfrak{c}}} - 1 + \frac{x^2}{2} \leq \frac{x^4}{24} \Rightarrow x_{\underline{\mathfrak{c}}} \leq 1 - \frac{x^2}{2} + \frac{x^4}{24}$$

$${}^2_{\underline{\mathfrak{c}}} \leq 1 - \frac{2^2}{2} + \frac{2^4}{24} = -\frac{1}{3}$$

$$\pi/2_{\underline{\mathfrak{s}}} = 1$$

$$1 = \pi/2_{\underline{\mathfrak{s}}}^2 + \pi/2_{\underline{\mathfrak{c}}}^2 = \pi/2_{\underline{\mathfrak{s}}}^2 \Rightarrow \pi/2_{\underline{\mathfrak{s}}} = \pm 1$$

$$x \geq 0: \quad m > 0 \Rightarrow 0 \leq (-1)^m \left( x_{\underline{\mathfrak{s}}} - \sum_n^m (-1)^n \frac{x^{2n+1}}{(2n+1)!} \right) \leq \frac{x^{2m+1}}{(2m+1)!}$$

$$0 < x \leq 2: \quad m = 1: \quad 0 \leq x - x_{\underline{\mathfrak{s}}} \leq \frac{x^3}{6}$$

$$\Rightarrow 6^x_{\underline{\mathfrak{s}}} \geq 6x - x^3 = \underbrace{6 - x^2}_x x = \underbrace{\sqrt{6 + x}}_x \underbrace{\sqrt{6 - x}}_x x > 0 \Rightarrow 0 < \pi/2_{\underline{\mathfrak{s}}} = 1$$

$$x + y_{\mathfrak{s}} = x_{\mathfrak{s}} y_{\mathfrak{c}} + x_{\mathfrak{c}} y_{\mathfrak{s}}$$

$$x + y_{\mathfrak{c}} = x_{\mathfrak{c}} y_{\mathfrak{c}} - x_{\mathfrak{s}} y_{\mathfrak{s}}$$

$$\begin{aligned} & \frac{1}{2} \overbrace{x + y_{\mathfrak{s}} - x_{\mathfrak{s}} y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{s}}}^2 + \overbrace{x + y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{c}} + x_{\mathfrak{s}} y_{\mathfrak{s}}}^2 \\ &= \overbrace{x + y_{\mathfrak{s}} - x_{\mathfrak{s}} y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{s}}} \overbrace{x + y_{\mathfrak{s}} - x_{\mathfrak{s}} y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{s}}} + \overbrace{x + y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{c}} + x_{\mathfrak{s}} y_{\mathfrak{s}}} \overbrace{x + y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{c}} + x_{\mathfrak{s}} y_{\mathfrak{s}}} \\ &= \overbrace{x + y_{\mathfrak{s}} - x_{\mathfrak{s}} y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{s}}} \overbrace{x + y_{\mathfrak{s}} - x_{\mathfrak{s}} y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{s}}} + \overbrace{x + y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{c}} + x_{\mathfrak{s}} y_{\mathfrak{s}}} \overbrace{x + y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{c}} + x_{\mathfrak{s}} y_{\mathfrak{s}}} \\ &= \underbrace{\overbrace{x + y_{\mathfrak{s}} - x_{\mathfrak{s}} y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{s}}}^*}_{*} \underbrace{\overbrace{x + y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{c}} + x_{\mathfrak{s}} y_{\mathfrak{s}}}^{**}}_{**} + \underbrace{\overbrace{x + y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{c}} + x_{\mathfrak{s}} y_{\mathfrak{s}}}^{**}}_{**} \underbrace{\overbrace{x_{\mathfrak{s}} y_{\mathfrak{c}} + x_{\mathfrak{c}} y_{\mathfrak{s}} - x + y_{\mathfrak{s}}}_{-*}}_{-*} = 0 \\ \Rightarrow & \overbrace{x + y_{\mathfrak{s}} - x_{\mathfrak{s}} y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{s}}}^2 + \overbrace{x + y_{\mathfrak{c}} - x_{\mathfrak{c}} y_{\mathfrak{c}} + x_{\mathfrak{s}} y_{\mathfrak{s}}}^2 \stackrel{\text{cst}}{=} \overbrace{y_{\mathfrak{s}} - \underbrace{0_{\mathfrak{s}}}_{=0} y_{\mathfrak{c}} - \underbrace{0_{\mathfrak{c}}}_{=1} y_{\mathfrak{s}}}^2 + \overbrace{y_{\mathfrak{c}} - \underbrace{0_{\mathfrak{c}}}_{=1} y_{\mathfrak{c}} + \underbrace{0_{\mathfrak{s}}}_{=0} y_{\mathfrak{s}}}^2 = 0 \end{aligned}$$

$$x + \pi/2_{\mathfrak{s}} = x_{\mathfrak{c}}$$

$$x + \pi/2_{\mathfrak{c}} = -x_{\mathfrak{s}}$$

$$x + \pi/2_{\mathfrak{s}} = x_{\mathfrak{s}} \underbrace{\pi/2_{\mathfrak{c}}}_{=0} + x_{\mathfrak{c}} \underbrace{\pi/2_{\mathfrak{s}}}_{=1}$$

$$x + \pi/2_{\mathfrak{c}} = x_{\mathfrak{c}} \underbrace{\pi/2_{\mathfrak{c}}}_{=0} - x_{\mathfrak{s}} \underbrace{\pi/2_{\mathfrak{s}}}_{=1}$$

$$x + \pi_{\mathfrak{s}} = -x_{\mathfrak{s}}$$

$$x + \pi_{\mathfrak{c}} = -x_{\mathfrak{c}}$$

$$x + 2\pi_{\mathfrak{s}} = x_{\mathfrak{s}}$$

$$x + 2\pi_{\mathfrak{c}} = x_{\mathfrak{c}}$$